
(1)VIII-mathematics

class (d{kk) % VIII
mathematics

(xf.kr)
(Summative Assessment - II)
(ladyukRed ewY;kadu & II)

Time : 3 Hrs.		  Maximum Marks : 90
fuèkkZfjr le; % 3 ?kaVs			   vfèkdre vad % 90

General Instructions :
1.	 The question paper consists of four sections - A, B, C and D. Section - A consists of 4 questions  
	 of 1 mark each; Section - B consists of 6 questions of 2 marks each; Section - C consists of 10  
	 questions of 3 marks each and Section - D consists of 11 questions of 4 marks each.
2.	 All questions are compulsory.
3.	 In questions of construction, the drawing should be neat and clean and exactly as per the  
	 given measurements. Use ruler and compass only.
4.	 There is no overall choice. However, internal choices have been given in some questions.

lkekU; funsZ'k %

1-	 bl iz'u i=k ds pkj [k.M gSa & v] c] l vkSj nA [k.M&v esa 4 iz'u gSa ftuesa izR;sd dk 1 vad  
	 gSA [k.M&c esa 6 iz'u gSa ftuesa izR;sd ds 2 vad gSaA [k.M&l esa 10 iz'u gSa ftuesa izR;sd ds 3 vad  
	 gSa rFkk [k.M&n esa 11 iz'u gSa ftueas izR;sd ds 4 vad gSA

2-	 lHkh iz'u vfuok;Z gSaA

3-	 jpuk ds iz'uksa esa] jpuk LoPN rFkk Bhd gksuh pkfg,] tks fd fn, x, ekiksa ds vuq#i gksA osQoy iqQVs  
	 rFkk ijdkj dk iz;ksx djsaA

4-	 iz'u i=k ds dqN iz'uksa esa dsoy vakrfjd fodYi fn;s x;s gSaA

Roll No. (vuqØekad) ------------------------------			  Code (dwV la-) % 820164-SA2(M)

Please check that this question 
paper contains 31 questions 
and 8 printed pages.
Ñi;k tk¡p dj ys a fd bl 
iz'u&i=k esa 31 iz'u rFkk 8 Nis 
gq, i`"B gSaA

section - 'a' ([kaM&^v*)

1.	 Simplify : (ljy dhft,) % 
5 56 3

5 5
æ ö æ ö÷ ÷ç ç¸÷ ÷ç ç÷ ÷ç çè ø è ø

2.	 Write the degree of the polynomial :	  
	 4z3 – 3z5 + 2z4 + z + 1	  
cgqin dh ?kkr dhft,A	  
	 4z3 – 3z5 + 2z4 + z + 1
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(2)VIII-mathematics

3.	 In the word 'MATH' which letter shows rotational symmetry of order 2 ?	  
fn;s x;s 'kCn 'MATH' esa dkSu lk v{kj ?kw.kZu lefefr dk ?kw.kZu Øe 2 n'kkZrk gS \

4.	 Write the number of lines of symmetry of a regular pentagon.	  
,d fu;fer iapHkqt dh js[kh; lefefr dh la[;k fyf[k,A

section - 'b' ([kaM&^c*)

5.	 Evaluate (eku Kkr dhft,) % ( )
31

4625
-

-é ù
ê ú
ê úë û

 

6.	 Simplify (ljy dhft,) % ( ) ( )
3 5
2 249 49
49
-

7.	 Divide (–4p3 + 12p2 + 14p + 1) by (4p)	  
(–4p3 + 12p2 + 14p + 1) dks (4p) ls Hkkx dhft,A

8.	 Find (t2 + 6t + 8) ÷ (t + 2) using factorisation method.	  
xq.ku[kaM fof/ dk iz;ksx djrs gq, (t2 + 6t + 8) ÷ (t + 2) Kkr dhft,A

9.	 Solve for x : (x ds fy, gy dhft,) % 

3 3 65
1 51
3

x

x

-
=

-

10.	 Write the order and angle of rotational symmetry of a rectangle.	  
,d vk;r dh ?kw.kZu lefefr dk ?kw.kZu Øe vkSj ?kw.kZu dks.k fyf[k,A

section - 'c' ([kaM&^l*)

11.	 Evaluate (eku Kkr dhft,) % ( )
4
50.00243

12.	 In what time will a sum of ̀  3750 at 20% per annum compounded annually amount 
to ` 6480 ?										           
fdrus le; esa ` 3750 dk feJ/u 20% okf"kZd pØo`f¼ C;kt dh nj ls ` 6480  
gks tk,xk \

OR (vFkok)
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(3)VIII-mathematics

	 A certain sum amounts to ` 12,167 in 3 years at 15% per annum compounded 
annually. Find the sum.								      

	 ,d fuf'pr jkf'k 15% okf"kZd pØo`f¼ C;kt dh nj ls 3 o"kZ esa ` 12]167 gks tkrh 
gSA jkf'k Kkr dhft,A

13.	 Using division method, show that (2x + 3) is a factor of (6x3 + 19x2 + 13x – 3).	
	 Hkkx fof/ dk iz;ksx djds n'kkZbZ;s fd (2x + 3)] (6x3 + 19x2 + 13x – 3) dk xq.ku[kaM gSA

OR (vFkok)

	 Find the quotient and remainder when the polynomial 125 – 225x + 135x2 – 27x3 is 
divided by the polynomial 5 – 3x.								      
cgqin (125 – 225x + 135x2 – 27x3) dks cgqin (5 – 3x) ls Hkkx nsus ij HkkxiQy rFkk 
'ks"kiQy Kkr dhft,A

14.	 Solve for y : (y ds fy, gy dhft,) % 
( )( )2 2 2 1

2 2
y y y

y
- + -

=
+

 

15.	 A steamer goes downstream from one point to another in 6 hours. It covers the 
same distance upstream in 7 hours. If the speed of the stream is 2 km/hr, find the 
speed of the steamer in still water.								      
,d LVhej ikuh ds cgko ds lkFk ,d fcanq ls nwljs fcanq rd 6 ?kaVs esa igq¡prk gSA ogh 
nwjh og ikuh ds cgko ds fo:¼ 7 ?kaVs esa r; djrk gSA ;fn ikuh ds cgko dh xfr  
2 fd-eh- izfr ?kaVk gS rks LVhej dh Bgjs ikuh esa xfr Kkr dhft,A

OR (vFkok)

	 The sum of three consecutive multiples of 8 is 888. Find the multiples.		
8 ds rhu Øekxr xq.ktksa dk ;ksx 888 gS rks xq.kt Kkr dhft,A

16.	 PQRS is a rhombus. If ∠PSQ = 500, find the angles of the rhombus.			 
PQRS  ,d leprqHkqZt gSA ;fn ∠PSQ = 500  gS rks leprqHkqZt ds dks.k Kkr dhft,A

17.	 The lengths of the two adjacent sides of a parallelogram are in the ratio 2 : 3 and 
its perimeter is 50 cm. Find the lengths the sides of the parallelogram.	

	 ,d lekarj prqHkqZt dh nks layXu Hkqtkvksa dh yackbZ;ksa esa 2 % 3 dk vuqikr gS vkSj bldk 
ifjeki 50 ls-eh- gSA lekarj prqHkqZt dh Hkqtkvksa dh yackbZ;k Kkr dhft,A

18.	 Construct a quadrilateral MNRS (using ruler and compasses) with sides  
5.5MN = cm, 6NR = cm, 6.5RS = cm and diagonals 8MR = cm and 7.5NS = cm.

	 ,d prqHkq Zt MNRS dh jpuk (#yj rFkk ijdkj }kjk) dhft, ftlesa Hkqtk,¡  

5.5MN = ls-eh-] 6NR =  ls-eh-] 6.5RS =  ls-eh- vkSj fod.kZ 8MR =  ls-eh- vkSj 
7.5NS =  ls-eh- gSaA
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	 Alternative question for visually challenged students in lieu of Q. No. 18.	 
ç- la- 18 ds LFkku ij n`f"V ckfèkr fo|kfFkZ;ksa ds fy, oSdfYid iz'u	  
ABCD is a quadrilateral in which AB CD=  and AD BC= . Show that it is a 
parallelogram.									       
,d prqHkqZt ABCD esa AB CD=  vkSj AD BC=   gSA n'kkZb, fd ;g ,d lekarj  
prqHkqZt gSA

19.	 From a well-shuffled deck of 52 playing cards, one card is drawn at random. Find 
the probability that the card drawn is :								      
(i)	 a card of diamond.									       
(ii)	 an ace.										        
(iii)	 5 of club.										        
,d 52 iÙkksa okyh vPNh rjg ls isaQVh xbZ rk'k dh xM~Mh esa ls] ,d iÙkk ;kn`PN;k 
fudkyk tkrk gSA izkf;drk Kkr dhft, fd fudkyk x;k iÙkk &					   
(i)	 ,d bZV dk iÙkk gSA									       
(ii)	,d bDdk gSA										        
(iii)	fpM+h dk 5 gSA

20.	 The data on religon wise division of 1080 workers of a factory are given below :

	 Draw a pie chart to represent the above data.	 
,d iSQDVªh ds 1080 Jfedksa ds /ekZuqlkj foHkktu ds vkdM+s uhps fn;s x, gSa &

	 Åij fn;s x, vkadM+ksa dks n'kkZus ds fy, ,d o`rfp=k [khfp,A

	 Alternative question for visually challenged student in lieu of Q. No. 20.	  
ç- la- 20 ds LFkku ij n`f"V ckfèkr fo|kfFkZ;ksa ds fy, oSdfYid iz'u	  
There are 25 chalks in a box. 8 are yellow, 11 are blue and the rest are white  
chalks. You are asked to pick a chalk from  the box without looking into the box.  
What is the probability of								      
(i)	 getting a yellow chalk ?								      
(ii)	 getting a chalk which is not blue ?								      
(iii)	 getting a white chalk ?	 							     

3

3

Religion Hindu Muslim Sikh Christian
Number of workers 450 270 255 105

èkeZ fgUnq eqfLye fl[k bZlkbZ
Jfedksa dh la[;k 450 270 255 105
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,d fMCcs esa 25 pkd gSaA 8 ihys jax ds] 11 uhys jax ds vkSj cps gq, lisQn jax ds gSaA 
vkidks fMCcs esa ls fcuk mlesa ns[ks] ,d pkd fudkyus dks dgk tkrk gSA izkf;drk D;k 
gS fd %											         
(i)	 izkIr pkd ,d ihys jax dk pkd gS \							     
(ii)	izkIr pkd ,d uhys jax dk pkd ugha gS \							    
(iii)	izkIr pkd ,d lisQn jax dk pkd gS \

section - 'd' ([kaM&^n*)

21.	 If 5x – 5x–1 = 100, then find the value of x.							    
fuEufyf[kr ;fn 5x – 5x–1 = 100 gS rks x dk eku Kkr dhft,A

22.	 The simple interest on a certain sum of money for 2 years at 4
1
2

% p.a. is ` 5400. 
What will be the compound interest on that sum at the same rate for the same 
time period, if the interest is compounded annually.					      

,d fuf'pr jkf'k ij 4
1
2

% okf"kZd nj ls 2 o"kZ ds fy, ` 5400 lk/kj.k C;kt feyrk 
gSA mlh jkf'k ij] mlh nj vkSj mlh le; esa fdruk pØo`f¼ C;kt feysxk] tcfd C;kt 
izfro"kZ la;ksftr gksrk gSA

23.	 Find the difference between the compound interest on ` 25000 at 16% 
p.a. for 6 months compounded half-yearly and compounded quarterly. 
Which option is better ?						       
` 25,000 ij 16% okf"kZd nj ls 6 eghus ds fy, pØo`f¼ C;kt dk varj Kkr dhft, 
;fn C;kt Øe'k% Nekgh vkSj frekgh la;ksftr gksrk gSA dkSu&lk fodYi vPNk gS \

24.	 Hema started a business by investing ` 2,50,000. During the first three successive 
years, she earned a profit of 5%, 10% and 12% per annum respectively. If in each 
year, the profit was added on the capital at the end of the previous year, calculate 
her total profit after 3 years. Half of the total profit, she donated to 'GOONG' an 
NGO for upliftment for poor children. Which value is being reflected by this action 
of Hema ?											        
gsek us 2]50]000 :i, fuos'k djds ,d O;kikj 'kq# fd;kA igys yxkrkj rhu o"kks± ds 
nkSjku] mlus Øe'k% 5%] 10%] 12% okf"kZd nj ls ykHk vftZr fd;kA vxj izR;sd o"kZ 
esa] ykHk fiNys o"kZ dh iwath esa tksM+k x;k gS] rks 3 o"kksZ ds ckn mldk dqy ykHk Kkr 
dhft,A ;fn dqy ykHk dh vk/h jkf'k og xjhc cPpksa ds m}kj ds fy, ^GOONG*] 
,d NGO laLFkk] dks nku esa ns nsrh gS] rks gsek dk bl rjg dk dk;Z mlds fdl ewY; 
dks n'kkZrk gS \
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25.	 Divide polynomial 8p3 – 729 – 108p2 + 486p by polynomial (2p – 9) and verify  
your answer.										        
cgqin (8p3 – 729 – 108p2 + 486p) dks cgqin (2p – 9) ls Hkkx dhft, vkSj vius mÙkj 
dks lR;kfir dhft,A

26.	 The denominator of a rational number is greater than its numerator by 6. If  

the numerator is increased by 5 and the denominator is decreased by 3, the  

number obtained is equal to 5
4

 . Find the rational number.					   

,d ifjes; la[;k dk gj va'k ls 6 vf/d gSA ;fn va'k dks 5 c<+k ns vkSj gj esa ls  

3 de dj nsa rks izkIr la[;k 5
4

 ds cjkcj vkrh gSA ifjes; la[;k Kkr dhft,A

27.	 The diagonals of a rectangle ABCD intersect in O. If ∠BOC = 700, find ∠ODA  

and ∠ABO.	 									       

,d vk;r ABCD ds fod.kZ O ij dkVrs gSA ;fn ∠BOC = 700  gS rks ∠ODA  rFkk ∠ABO 

Kkr dhft,A

28.	 The lengths of the diagonals of a rhombus are in the ratio 3 : 4. If its perimeter is 

40 cm, find the lengths of the sides and diagonals of the rhombus.			 

,d leprqHkqZt ds fod.kks± dh yackb;ksa esa 3 % 4 dk vuqikr gSA ;fn bldk ifjeki 40 

ls-eh- gS rks leprqHkqZt dh Hkqtkvksa dh yEckbZ vkSj fod.kZ Kkr dhft,A

OR (vFkok)

	 ABCD is a parallelogram. AP  bisects ∠A and CQ  bisects ∠C.   P lies on CD  and 

Q lies on AB  .										        

(i)	 AP CQ

										        

(ii)	 AQCP is a parallelogram.								      

ABCD ,d lekarj prqHkqZt gSA AP  dks.k ∠A dks vkSj CQ   dks.k ∠C dks lef}Hkkftr 

djrh gSA fcUnq P Hkqtk CD   vkSj fcUnq Q  Hkqtk AB   ij gSA					   

n'kkZb, fd &										        

(i)	 AP CQ 										        

(ii)	AQCP  ,d lekarj prqHkqZt gSA
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29.	 Construct a quadrilateral ABCD (using ruler and compasses) in which 

5AB BC CD DA= = = =  cm and ∠A = 1200. What type of quadrilateral is it ?	

,d prqHkqZt ABCD  dh jpuk dhft,] ftlesa 5AB BC CD DA= = = =  ls-eh- vkSj  

∠A = 1200   gSA ;g fdl izdkj dk prqHkqZt gS \

	 Alternative question for visually challenged student in lieu of Q. No. 29.	  

ç- la- 29 ds LFkku ij n`f"V ckfèkr fo|kfFkZ;ksa ds fy, oSdfYid iz'u	 

The sum of the digits of a 2 digit number is 8. The number obtained by interchanging 

the digits exceeds the given number by 18. Find the given number.		

	 nks vadksa dh ,d la[;k ds vadksa dk ;ksx 8 gSA ;fn vadkas ds Øe dks cnyus ls cuh 

la[;k ewy la[;k ls 18 vf/d gS] rks ewy la[;k Kkr dhft,A

30.	 The heights (in cm) of 30 students of class VIII are given below :				  

155, 158, 154, 158, 160, 148, 149, 150, 153, 159, 	  						    

161, 148, 157, 153, 157, 162, 159, 151, 154, 156, 	  						    

152, 156,160, 152, 147, 155, 163, 155, 157, 153.							     

Prepare a frequency distribution table with 156-160, 160-164, as class intervals. 

Also prepare a histogram for the above data.							     

d{kk vkBoha ds 30 fo|kfFkZ;ksa dh yEckbZ (ls-eh- esa) uhps nh xbZ gS %				 

155, 158, 154, 158, 160, 148, 149, 150, 153, 159, 	  						    

161, 148, 157, 153, 157, 162, 159, 151, 154, 156, 	  						    

152, 156,160, 152, 147, 155, 163, 155, 157, 153.							     

,d ckjEckjrk lkj.kh cukb, ftlesa 156&160] 160&164] oxZ vUrjky gSaA mijksDr vkadM+ksa 

ls ,d vk;r fp=k Hkh cukb,A

	 Alternative question for visually challenged student in lieu of Q. No. 30.	  

ç- la- 30 ds LFkku ij n`f"V ckfèkr fo|kfFkZ;ksa ds fy, oSdfYid iz'u	

	 Solve the equation : (lehdj.k dks gy dhft,) % ( )( ) 21 4 3 4 5 1
4 1 3

x x x
x

+ - - +
=

+
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OR (vFkok)

	 The following pie-chart gives the marks scored in an examination by a student in 
various subjects. If the total marks obtained by the student were 540, answer the 
following questions.

	 (i)	 How many more marks wee obtained by the student in mathematics than  
	 in Hindi ?	  
(ii)	 Find the sum of marks obtained in Social Science and Science and hence  
	 show that it is less than that in Mathematics and Hindi.

	 fuEufyf[kr o`Ùkfp=k ,d Nk=k }kjk ,d ijh{kk ds vYx&vYx fo"k;ksa esa izkIr vadksa dks 
n'kkZrk gSA ;fn Nk=k }kjk izkIr vadksa dk dqy ;ksx 540 gS rks fuEufyf[kr iz'uksa ds mÙkj 
nhft, &											         
(i)	 Nk=k us xf.kr fo"k; esa fgUnh fo"k; ls fdrus T;knk vad izkIr fd, \		
(ii)	lkekftd 'kkL=k vkSj foKku ds vadks dk ;ksx Kkr dhft, rFkk n'kkZb, fd ;g  
	 xf.kr vkSj fgUnh ds vadks ds ;ksx ls de gSaA

31.	 A die is thrown at random. Find the probability of getting -					   
(i)	 an even prime number								      
(ii)	  a number less than 3								      
(iii)	 a composite number								      
(iv)	 a number not less than 4.								      
,d ikls dks ;kn`PN;k iSaQdk tkrk gSA izkf;drk Kkr dhft, fd izkIr la[;k &		
(i)	 ,d le vHkkT; la[;k gksA								      
(ii)	3 ls de gksA										        
(iii)	,d HkkT; la[;k gksA									      
(iv)	4 ls de u gksA

4
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